E,Complete number 5 in your comb‘esitidn‘boék

5) The base and height of the red butterfly wing are two tlmes
- greater than the base and height of the blue butterfly wing.
'How many times greater is the area of the red wing than the

-area of the blue wing?
- ‘What are you trymg to f:gure out'?

/ how much bigger the area of the red
wing is than the blue wing
F'Y What information do you need in
- order to find your answer?

| oy the area of the red wing and the area
@\ of the blue wing




Complete number 5 in your composition book.

9) The base and height of the red butterfly wing are two times
- greater than the base and height of the blue butterfly wing.

- How many times greater is the area of the red wing than the
- area of the blue wing?

22

blue wing area = —-g-l- =1em

A red butterfly baseis2x2=4 cm
g "ed butterfly heightis 2x 1=2cm

area"cf réd b,utterﬁy”é ﬁ.(ég) =\4 cm’




)

_area of the blue wmg'?

Complete number5 in’ yourﬂcempositién book.

- The base and height of the red butterfly wing are two times
_greater than the base and height of the blue butterfly wing.
How many times greater is the area of the red wing than the

d blue wing area =1 cm’

area of red butterﬂy =4 cm’

0 The red butterfly wing is how many
| /<& times bigger than the blue butterﬂy
‘wing?

4 = ’?1
4=1w
4=w

The red butterfly wing is 4 t:mes greate
than the blue butterﬂy wing.



Complete number 5 on your notes page.

5) What if the base and height of the red
wing were three times greater than those
of the blue wing? How many times
greater is the area of the red wing?

' area of blue wingis 1cm®>

area of red wing . 6\231 =9 cm?
base 3(2) =6
height 3(1)=3

: 9=1g

The red wing is 9 ttmes greater than
the blue wing. '




- Complete number 6 in your composition book.

) HANG GLIDING The wingspan of the JUN—
triangular hang glider is 30 feet. Ao .

i,

e

How much fabric is needed to make the sail? nggﬁm —

A=1bh
A= 1309
=
A=135ft?




